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'LH�.UDQNKHLW�GHU�7LHUH�DOV�
%RWVFKDIW�I�U�GHQ�0HQVFKHQ 
6HPLQDU�PLW�/LOOLDQ�6WHLQHU 
 
 

,Q�GHU�7DW�N|QQHQ�ZLU�DXV�GHU�3UD[LV�EHVWlWLJHQ��GDVV�XQVHUH�+DXVWLHUH�
LQ�5HVRQDQ]�PLW�XQV�0HQVFKHQ�OHEHQ��6LH�SDVVHQ�VR]XVDJHQ�
FKDUDNWHUOLFK�]X�XQV�XQG�VLQG�VRPLW�DXFK�I�U�lKQOLFKH��
EH]LHKXQJVZHLVH�JOHLFKH�N|USHUOLFKH�6\PSWRPH�DQIlOOLJ��'DPLW�VLQG�
VLH�HUVW�LQ�GHU�/DJH��XQV�0HQVFKHQ�DXI�JHLVWLJHU�XQG�SK\VLVFKHU�(EHQH�
]X�VSLHJHOQ�� 
 

,Q�GLHVHP�6HPLQDU�ZHUGHQ�ZLU�DQVFKDXHQ��ZDV�GLH�.UDQNKHLWHQ�
XQVHUHU�+DXVWLHUH�I�U�XQV�DOV�%H]XJVSHUVRQ�EHGHXWHQ�XQG�ZLH�ZLU�
OHUQHQ�N|QQHQ��ZHOFKH�XQJHO|VWHQ�.RQIOLNWH�LQ�XQVHUHQ�YLHUEHLQLJHQ�
/LHEOLQJHQ�ZLUNVDP�VLQG��'LHVH�6\PSWRPH�KDEHQ�LKUHQ�8UVSUXQJ�PHLVW�
LQ�XQV�0HQVFKHQ��6LH�EHUXKHQ�DXI�XQVHUHQ�YHUGUlQJWHQ�(PRWLRQHQ�� 
 
 

/HLWXQJ  /LOOLDQ�6WHLQHU 
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